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He3 = H? — he2 = 1.863

Ffis2 = F2-tan(ds4) = 29513

Ffid2 = Fi2-tan(5d4) = 219.571

Rdl = 06
Rd2 =04
(kN) s

v2a’ +pan?)
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S Ll S 50 pglie 500 acwlxs

P, =IL~l=552

_; (F-D
Py=b—5—

1:'3 =J(A+F+G)yl=18975

A1 =3404

P, = Pp-cos(8s2) = 67.25

Pﬁ = Pa-sin(8s2) = 152.489
3

l’6 := Rdl-Ffgs = 1.088 x 10
P? := Rd2-Ffisl = 318.508
PS = Rd2 Ffis2 = 118.052

=7.137 (m)
(m)
(N)
(kN)
(Rdl)
(Rd2)
(m) s
=A+05I=09

R_2 =A+1I+ [[%)(F - I)] =2283

R, =05(A+F+G) =275

(3o
2] o

R6 = Hel =2.225
R7 = He2 = 1.863
RS = He3 = 1.863

1=PrRy

l\HI2 = PZ—R2 = 771.247

= 49.68

M3 = p]'R'j = 521813

M4 = P4-R4 =33.625
=3324 MS = Pﬁ-l{5 = 506.867
. _ 3
M6 = PG-RG =242 x 10
M,? = P..,-R.’, = 593.314
Ms = P8~R8 = 219.906



Ordae guilign Sty gole 425

) (l}(Hl+H2)
(].z - —

Control_Ov_stl := |"OK" if SFovers = 1.5 Wall on Rock Control_Ov_stl = "OK"
"No" otherwise
Control_Ov_st2 = |"OK" if SFovers = 2 Wallon Soil Control Ov_st2 = "OK"
"No" otherwise
olud Ll 50 pglie JSJ Al
Ny s (m) s (Nm) S
T1 =IL~N1=1552 Ds, =A+05I=09 Ql = Tl—Ds_l = 4968
— _p- — e _pl- . _
']."2 =0.5-L~l(F-D=3404 D52 =A+1I+ |:( 3 ]-(F D] =2283 Q2 = ']."Z-Ds2 = 777247

TS =J(A+F+G)~l=18975

T, = Pp-cos(8d2) = 68757

T5 = Pa-sin(8d2) = 115.197

Tﬁ = APae-sin(6d2) = 50.799
T"," = Rd1-Ffgd = 799.803
Ts = Rd2-Ffidl = 236964

T9 = Rd2-Fftd2 = 87.829

6= Pa-cos(8d2) = 479.831

t, '= APaccos(5d2) = 211.593

t3 = Paew = 117.07
SFoverd = & = 1316
Qo
Control_Ov_dynl = |"OK"
o™
Control_Ov_dyn2 = |"OK"
No”

3 2

= 3.083 m, = Uy, = 1447 x 100

3

3

Mo = Zm =1.447x 10 (kN-m)

P Sl el )0 5l HeFlg ply 52 HLaebl cu o

Ds,=05(A+F+G) =275

(1
Ds4 = (E}] =05

Ds, = [[(i]a-n + H2):| - L}[ﬂ} +T1+A=33M
5 6 -L

. 1)
Ds, = I:[[EJ(HI + Hz).o.ejl -

Ds_‘r = Hel =2.225
Ds8 = He2 =1.863

Ds_ = Hec3 = 1.863

Q3 = '1'3-Ds3 = 521.813
Q4 = T4-Ds;4 =34378

Q5 = 'I'j-Ds5 = 38291

Qﬁ = Tﬁ-Ds6 =197.83

L}-[(F ;n] +1+ A= 3804
B _ 3
Q=T Ds, = 1779 10

Qs = Ts-]]ss = 441415

Q9 = T9-Ds = 163.606

9

Q= 37Q= 4348 x 10°  (Nm)

ol Sl 50 I e ST dnlxe

(1) @E1+H) _ _ 3
ds _7(3).—2 =3.083 a) = t;ds) = 1479 % 10

o (H1+H2) _ 3
ds, = 06— — =555 a4y = tyds, = 1174 x 10

ds, = Hw= 535

P Seelod Sl )0 5less (SeF5lg il jo Laebl oy

9 = t3-ds3 = 649.739

3

Qo= Zq =3304 x 10 (kN-m)

if SFoverd = 1.125

otherwise

if SFoverd =2 1.5

otherwise

WallonRock Control_Ov_dynl = "OK"

Wallon Soil Control_Ov_dyn2 = "No"

B AR )
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Fps =066-(A+G+F)C3+ [Pl + l='2 + lJ3 + PSJ-un(Bsa) + P6 + P? + P8 =1873x llJ3 (kN)

Fas = U1 = 469.313 (KN}
RS ? =3.991 SHLwl > 5o 5530 ply 59 HLasbl ey 48
as
Control_Shear_st:= |"OK" if SFshears= 15 Wallon Rock or Soil Control_Shear_st = "OK"
"No" otherwise
Seolad Al 40 58 pglie (590 dwlms
. . 3
Fpd =050-(A+ G+ F)C3 + (Tl + T.’. + T3 + '1'5 + T6]-Iariﬁd3) + T? + Ts + T9 =1387= 10 (kIN)
Seolus Sl 4o 58 S o g9 arwlxe
Fad = tl +t, = 691423 (kN)
SFsheard = 11:% =2007 Sl Sl 50 S5 ply 53 Glsebl cu po
Control_Shear_dyn'= |"OK" if SFsheard> 1.125 Wallon Rock orSeil  Control_Shear_dyn = "OK"
No" otherwise

SO I 0 Jbp Sl o sa b Sed)b

Vs= P, + P, +P,+ Py = 737839 ()
] - 3
Muets .=Mr-Mo-[0.5{M6+ M, + Msﬂ =2.059 x 10 (kN-m)
Xs= MO 500 ()
Vs
Control_Xs1 = "ok~ i &% i 0 x< XA +j *G  wallonRock Control_Xs1 = "0K"
"No" otherwise
ol
Control Xs2 = |"0K" if &7 i *O L xoc XA +3F *9  wallonsoil Control_Xs2 = "OK"
"No" otherwise
es'= ‘w - Xs‘ =004 (m)
Control_e_stl = |"OK" if ess[w:[ Wall on Rock Control_e_stl = "OK"
"No" otherwise
Contiol_e 522 = |"OK" if es<| AT+ O )
6 Wall on Soil Control_e_st2 = "OK"

"No" otherwise
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qmaxs ‘= (L](l +6 LJ = 140075  (kPa)

A+F+G "A+F+G
q3s=~3D=139 (kPa)
qmins = ( Vs ]{1 —6—= ) =128231  (kPa)
“lA+F+G A+F+G)
Bs=(A+F+G)-2es=5419 (m) s = aum( P""“(asz)\: p"‘“”’(ﬁ‘z)J = 0499
s
D . 2| D
Feds= 1+ 04 — | = 1.148 Fads = 1 + 2-tan(3)-(1 - sin(d3))"{ —— | = 1.112  Fyds =1
Bs (Bs)
2 2
Feis = [1 e ] = 0466 Fais := Fcis = 0.466 Fryis = {1 - E) =3454x 10
057 @3

2
Nas = e"""n(d’”-(m(% + %]) = 13199  Nes:= (Ngs - 1)-(

p—es ) =23942 Nrs:= (Ngs— 1)-tan(1.4-$3) = 9.463

qus = C3-Ncs-Feds-Feis + g3s-Ngs-Fqds-Fqis + 0.5-~3-N~s-F~ds-Fjis-Bs = 652.107 (kPa)

SFs= —2°  _ 4655 Control_bearing,_st = |"OK" if SFs23 Control_bearing_st = "OK"
m )
"No"  otherwise Wall on Rock or Soil
Seolos Il o JUp e o )b ood)b
Vdi=T +T,+ T, + T + T, = 751346 (kN)
Maetd = Qr — Qo — |:0A1-(Q.’ -Qg- Qg)] =927278 (kN-m)
Xd= Moetd o34 (m)
vd
wn . (A+F+G) 5(A+F +G)
= ikl g MM T2 T )
Control Xdl = |"OK" af 6 sXds 6 WallonRock or Soil  Control_Xd1 = "OK"

"No" otherwise

ed:= |@ - xa‘ =1516 (m)
A+F+ G
Control_e_dynl = |"OK" if es< [%} WallonRock Control_e_dynl = "OK"
"No" otherwise
i (A+F+GQ)
N [ <
Control_e_dynl:= |"OK" if “-[ 3 } Wall on Soil Control_e_dyn? = "OK"
"No" otherwise
Vi
qmaxd = ( d )(1 46— ] =362.511 (kPa)
A+F+G A+F+G
qmind ;=[ Vvd )(1 —6—S8 J = -89.294 (kPa)
A+F+G A+F+G
q3d:=~3D=39 (kPa)
Pa-cos(8d2) — Pp-cos(dd2
Bd=(A+F+G)-2ed=2468  (m) pd = amn( cos( )wpp cos( )) = 0.501
Fdd'—l+04(2}—1324 Fqdd = 1 + 2-tan($3)-(1 — si (¢3))2 D 1 1246 Fyaa=1
cdd = MEa) =t qdd = sinl (Bd)_' ~dd =
2 2
Feid = (1 - ﬁ] = 0464 Fqid = Fcid = 0.464 Frjid = (1 - ﬂ) ~3880x 1070
0.5m »3

2
Nod = e“"*“‘(d"").(mn(g + ?J) =13199  Ned:= (Ngd - 1).(

=23942 Nvd:= (Ngd — 1)-tan(1.4-03) = 9.463
mn(¢3)] 6= e ¢

qud = C3.Ned-Fedd Feid + q3d-Nqd Fqdd Faid + 0.5.43-Nyd Fydd F~yid-Bd = 740.078  (kPa)

=2.042 Control_bearing dyn = |0k if SFd2 1.5 Control_bearing_dyn = "Ok"
"No" 1

otherwise Wall on Rock or Soil



